St. Mary’s School, Dwarka
Winter Holiday Homework-2025
Class VII
Subject: English

General Instructions:

1) The work should be done neatly and in a systematic way.

2) The given questions are to be done in your respective subject notebook.
3) Write questions along with the answers.

QL

Q2.

Q3

Q4

Q5.

SECTION A - GRAMMAR AND WRITING (12 marks)
Fill in the blanks with the correct form of the verb. (2x8=14)

Vicky: Hello, Priya! How are you? Will you help me with my project?
Priya: Sure! What should | do?

Vicky: The documents (prepare) by me yesterday.

Priya: Oh, that’s good! I think the presentation (complete) by the time you return.
Vicky: Yes, the files (organize) by my assistant this morning.

Priya: Great! But | noticed the report (not finish) yet.

Vicky: Don’t worry, it (finish) soon. It’s almost ready to be sent.

Priya: Perfect! So, when the emails (send)?

Vicky: They (send) tomorrow after everything is finalized.

Priya: Excellent! I'm sure the team (impress) with the final result.

You are Rajesh Kapoor, Secretary of the Greenfield Society, Mumbai. The society is organizing a
Plantation Drive to promote environmental awareness and beautify the surroundings. You are required
to inform the residents of the society about the event, its date, and time. Ask those who are willing to
participate to confirm their attendance. Draft a notice for the members of the society. 3)

You are Aryan Mehra, a resident of 12A, Rosewood Avenue, Bangalore-560023. The streets in your
locality have been facing severe issues with poor road conditions, potholes, and traffic jams. Despite
repeated complaints, no action has been taken by the local municipal authorities. Write a letter to the
Editor of The Times of India, highlighting these issues and urging the authorities to take immediate
action. (5)

SECTION B - LITERATURE (8 marks)
Answer these questions in 20-40 words. (2x2=4)

a) How was the Soviet Union ahead of other countries in recognising female fighter pilots?
b) Why is the foliage compared to the sea? What effect does the variation have on the garden and the
speaker?

Answer the question in 60-80 words. 4)
a) Why does Officer Shrift arrest Milo and Tock? What are the charges against them?
(The Phantom Tollbooth)
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Subject: Hindi

fAder — 1 fdw s @l yeril @ 3er fovdt & Fcax yfFawT 9t i |
2 weft sl & Jcaw yof araw 9 fAawr weEt of afea difse |
3 o waTe, g W W o 9 sifoe |

Jree1 1 fasafafia el @ fAdensrar scax dfse— (1x5=5)

(@) ‘ 73, 80, 97, 100’ 51 w==nsil w1 fEdt o fofwe |

() e @ fdast dic 27 Jo1d ot foifRae |

(a1) FRvefeifa amxt & & fPar-fagiv e sicoe Pa-Aewer @1 &«
fofee—

(i) woft aedt woltet i <dora & |

(i) & feoeht wral e |

(ar) FetfoifRa el o1 wfa-faeda wifse—

) wRiiez (i) arer

)

(i
(5) FefafRa ame # sugaa fdue-fAes enge—

5
(i) enara waer gt aga 3eT ®rE foar &

(ii) sfo &t we1, e & cars @l @ | g a@ @ aifdd o F ole-a
favrer et @1 ueiier foar arm 87

ueel 2 fAsafafea s uet we smenfea gesit ® scax 25-30 vl 4 difse— (2x2=1)

() eretest facet @1 cafddcd dwr e1? U6 @ MR UT HAAASE |
31 Joid fdel IOl @ 31Ua) Sfidel H 31Ueten Tdal?
(za) axfear amar ol &7 gz e & =fddea ur oier T ya@ ust!

uesl 3 fAwifoifia yaa uet gz smnfia ueel @ 3cax 25 & 30 ul & dfsie—  (2x2=2)

(@) ‘iz 3ite aeaar ®fden @ usel Ua @ Bler-fdd swEN el & den KU ©
foie foa-foa faeiuolt o1 geiier foen oren @7

(Ra) ‘ep fGoiwl ®fdar & g1 ofd qen weRI aoll @i 76l &7 T B |
HIRI 31Uat fdal 3AaUll & BIRUT AAGT A AT Ul el dT Ulal !

ueet 4 fAsfofRa wo gwe @ w6l w smafa uesil @ 3w 25-30 vl & difoe—

(2x2=4)

(@) uisdl @t 3w @ enfed gd oo Blol-wiel e !
() uisa @e B© Tl &% € & den wiwdl B e awn eft?

yeel-5 (@) efiawiclier aeerRl o owd o ue seaftol siw ofdar @ da & (ax1=4)

&l dicadid ®l 70-80 Tl & wdig & U & feifde |

(@) uitear @ sryciivl zeel ar) faS @) wHicaen da ge U feifwe | (ax1=1)
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Subject: Mathematics

Q1. Choose the correct option: (1x2=2)
(a) What is the distance covered by a car wheel in 500 revolutions if it has diameter of 0.5 m?
(i) 875 m (ii) 758 m (iii) 785 m (iv) 857 m

(b) If area of a circle is numerically equal to its circumference, then what is the radius of the circle?
(1) L unit (if) 2 units (iii) 3 units (iv) 4 units

Q2. Draw a tree diagram showing terms and factors of the following expressions: (2)
(a) 8-=t+m (b) 0.1 x2— 0.4 y* +0.5 22

Q3. The base and the corresponding altitude of a parallelogram are 35 cm and 42 cm respectively. (3)
If the other altitude is 30 cm, draw a neat figure and find the length of the other pair of parallel
sides.

Q4. A field is in the form of a right triangle with hypotenuse 100 m and one side equal to 60 m.

Draw a neat figure and find the area of the field. (3)
Q5. (a) Find the value of p if the value of 3g® + g — p equals to 10 when ¢ = 0. (2)
(b) Simplify the expressions and find the value of the following whenm =-3,n=2: (3)

() m+5(n-3)+4 (ii) 5(3m+10) + 2n + 14
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Subject: Science

General Instructions:

(1) The work should be done neatly and in a systematic way.
(2) The given questions are to be done in the Science notebook.
(3) Write questions along with the answers.

(4) Answer the 02 marks questions in 30 to 50 words.

(5) Answer the 03 marks questions in 50 to 80 words.

For question numbers 1-5, two statements are given-one labelled Assertion (A) and other labelled as
Reason (R). Select the correct answer to these questions from the codes a), b), ¢) and d) as given below:

a) Both A and R are true, and R is a correct explanation of the assertion.

b) Both A and R are true, but R is not the correct explanation of the assertion.
c) Alis true, but R is false.

d) Ais false, but R is true

1. Assertion (A): Plants take in oxygen for respiration and release carbon dioxide 1)
Reason (R): Respiration in plants occurs during the day only.

2. Assertion (A): Yeast can survive in the absence of oxygen. 1)
Reason (R): Yeast respires anaerobically to produce alcohol and carbon dioxide.

3. Assertion (A): Explosion of firework is a chemical change. 1)
Reason (R): No new substance is produced during explosion.

4. Assertion (A): Evolution of gas is confirmed sign of physical change. )
Reason (R) : Hydrogen gas is evolved on reaction of acids on metals.

5. Assertion (A): Periodic motion of a pendulum has been used to make clocks and watches. )
Reason (R): Pendulum of given length does not take the same time to complete one oscillation.

6. Assertion (A): The distance time graph for the motion of an object moving with a constant speed (1)
IS not a straight line.
Reason (R): An object moving along a straight line covers equal distance in equal intervals of time
it is said to be uniform motion.

7. a) In an experiment given below, a teacher asked students to blow air into a lime water solution. (1)
The lime water turned milky. Give reason.

an o

-

3
r!1

33

b Why do we often yawn when sitting in a closed room or when we are sleepy? 1)
8. Complete the following. 2

a) Glucose in the presence of oxygen L + + energy

b) Glucose in the absence of oxygen = + + energy
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9. What happens when an iron blade is dipped in a copper sulphate solution? (2)
Write the chemical equation for this change.

10. a) The following figure shows an oscillating pendulum. 1)

‘-....é

[¢]

Time taken by the bob to move from A to C is 2s, and from C to O is 3s. What is the time period of
this simple pendulum?

b) A person walks 2 km in 30 minutes. Calculate the speed in km/h. (1)
11. a) Differentiate between odometer and speedometer (1)
b) A car moves at a speed of 48km/h for 2 hours and then at the speed of 72km/h for the next 3 hours.

Calculate the total distance covered by the car. (2)

12. Jay is going for a drive in his car. The table given below shows the distance covered with respect to
time during the motion of his car. i) Identify the type of motion shown by the car.

ii) Plot a distance-time graph to describe his full journey. Find the average speed of the car. (3)
Distance (km) Time (hr)
60 1
170 2
210 3
390 4
450 5
13. a) Classify the following processes into physical or chemical changes. 1)

(i) Beating of aluminium metal to make aluminium foil.
(ii) Digestion of food.

b) Mr. Anant is working in a shipping company which is facing a huge loss due to rusting of ships.
Mention the reason for rusting of ships. What permanent solution can you suggest to him? 2

14. Give an example of a chemical reaction for each of the following situations. (3)
(@) A change in colour is observed.
(b) A gas is evolved.
(c) Sound is produced.

15. Riya, a 12-year-old student, participated in a school marathon. During the event, she noticed that after
running for a few minutes, she started breathing heavily and felt fatigued. She also observed that her
heart rate increased significantly. (1+1+2)

(a) Why did her breathing rate increase during the marathon?
(b) Why did she feel tired after running for a long time?
(c) How is energy produced in her body for physical activities?
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QL.
Q2.
Q3.
Q4.
Q5.

QL.
Q2.
Q3.
Q4.
Q5.

QL.
Q2.
Q3.

Q4.
Q5.

Subject: Social Science

History
Name any four Bhakti saints of North India.
Who were called bards?
Differentiate between the Alvars and the Nayanars saints.
Explain the significance of teachings of Guru Nanak Dev.

Compare the dance forms which originated in Andhra Pradesh and Odisha.

Civics
What is gender equality?
What is the purpose of advertisements?
Write down the basic principle of media ethics.
What role do media play in democracy. Explain
Creative Challenge
Write a short slogan or design a small poster (on paper or describe it in words) that
promotes gender equality. Your message should inspire others to treat everyone equally,

regardless of gender.

Geography

List the main tributaries of River Ganga.
What do you understand by ‘Slash-and-Burn Agriculture’?
Answer the following in brief:

(i) What are the different names of the Brahmaputra River in the countries it flows through?

(if) Mention the key features of the Amazon River.

Compare the climatic conditions of both Amazon and Ganga-Brahmaputra Basins.
On the world map locate and label the following:

e The Continents and the Oceans

e The Amazon and the Ganga-Brahmaputra Basin.
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Subject: Sanskrit

wneey fader -

1 AN, ULICIIE, Icaedl, deRaw deldr Yfeaerme faxad |
o weft ugsll & Icaw wvma @ I YRawn 9 Ak |

2 HANISH, ULSTIoT, Jcaedl, AR, foad |

* TX® WS ® UTeil ® Jea¥ pelfar fafae |

3 oRid TIWA, YaHdH, T, oid o forad |

¢ orf wave oY vd W< o 3 fafe |

uzel 1 fASe qgeear acauarell werRad Raaeerenfa qaa — (1xa=1)

1 wadq fase ...........310a |

2 30 EDL............fawsd |

3 30 DS ............ 3T 3ifed |
474 .......... 3lelcced wisfed |

uest 2 3reifeifld war sroErm fauafad e Raweeena qea (1x4=1)

ool - ngm ’ G.LSI ’ ﬁg{ﬁﬂ?{, W!
diar - [1] ¢ @t ......... IrfA 7

e - Jes! 3| [2] ......... IOIfA |

dirar - f& aa [3]............ wqoie sifea 7

U= - IUcT 3164, MIsIEIe elfawnfa aar ofwnfd |

diar - ufdfce  IedrRia wear Weifa |

g - dras! 3w [4] .............. 3ifFd | 3163 316 IRl |
AT - 2MaTeta |
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ued 3 fAde1 ueenond, Il 3fa faseusr ficar Axaa |

() argeafor foaa—

() ‘T ug- diceibIs eI Yt:, ggadel 3fdd wud fbel eafa’
(@) fasg (@) farog (e1) fasa

(i) ‘@ HIg- cIceIdIRs ,3cadl Y3, Uhbddel 3fdd wudl b aafd !
() o=tz () »fe=nfa (°1) ®fwm

(iii) ‘vl I1g- ciSeIdIRs ,UeHl Ywws, fgaeel sfdda wuel o safd 7
() 3rErey (@) sweraret,  (91) sroEa

() erwufol foraa—

(i) ‘a1t e wed) fasifaas, agaasl sfka wud fda eafa 7
() acietrey (za) Icia=ney (a1) ol
(i) ‘fde orea (3=f0) qefien fawfaes, ewaas sfia wue B erafa 7

() @1t (@) wrfete (e1) e
(i) ‘oI%’ eree =ae fasifaea:, fGaas 3fia wue fbe safad 7
() ereeins () =1y (1) T=rer
51ee1 4 (@) sreifcifRcaes)y sfid ser g, far Raa weefa graa —
(i) IR~ ———— R wfod |
(®) sufe () =as (a1) efters
(ii) HlaraTs 3ifed |
(@) =k (@) s (a1) 3rere
(iii) TR BRIA Gear —— fa=ime19 BRI |
(@) sigem (=) s (qr) ufcd
(@) seifefay Reaeency ugfd gceri weisa 3fia uaa fGwede fian
Raa zerenfa qreaa—
(i) fErep A ............ (gert @can) gdoen sierad |
(@) g (|) gferea (a1) wefcar
(i) faenmefl faemer) afeet,........... (aert @ean) uofa|
(@) e (&) otercan (81) stcar
(iii) e ufctenfoiarer Awet. .......... (spF Tcar) wwoen orafd |
(@) ofider (@) ogent (a1) ogcar

U3 (31) ufod 3radlese]
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gedl 5 (@) feafoif@a afda ercreme veafaeive gea — (1x3=3)
(i) faem wrsre qoercl |
(ii) SIciel TYSPRIB Hedfd Sl |
(iii) <eretet faermn 31fa 3awess siafd |
() fRvfoifta wwma esmene fesd s 31 faaa — (1x2=2)
() afa (i) Teas
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Subject: Computer Science

Q1. Choose the correct option. (1x3=3)
a) The statement using AND operator results true if .................. .
1) Both operands are true i1) Both operands are false
iii) Either of the operands are true Iv) Neither of the operands are true
b) The ............. are special symbols which perform arithmetic and logical computations.
i) operators ii) parameters iii) functions iv) operands
c) The.......... symbol is used for comment in Python.
i) * i) /**/ iii) # iv) /I
Q2. Write the syntax for the following statements. (1x3=3)
i) if i) if..else iii) if...elif.. .else
Q3. Find the output of the following program code. (1x4=4)
a) a= -28
b= 65
if (@a>b):
print("Hello")
else:
print("Bye")
b) >>>a = 3*2
print(a)
c) str = "Digi Code Al"
print(str)
d) number = -5

if(number > 0):
print('Positive number’)
elif(number < 0):
print('Negative number’)
else:
print('Zero")
print('This statement is always executed’)

Q4. Answer the following questions. (2x5=10)
a) What is the use of variables in Python?
b) Explain precedence of operators in Python.
c) Differentiate between mathematical operator and assignment operator.
d) Draw a G.O. to explain the different types of operators.
e) What is the purpose of the following operators in Python?
i) !1= i) % iii) OR i) //

Q5. Write the Python programs for the following: - (2x5=10)
i) to show all the mathematical operations (+, -, *,/, /], **, %)
ii) to calculate the volume of cuboid (v=I*b*h)
iii) to calculate the perimeter circle (p=2*3.14*r)
iv) to calculate the area of triangle (a=0.5*b*h)
V) to calculate the area of square (a=s*s)
Note: - Paste the snip of the program code and the output window after each program.

Upload the pdf of the practical on Microsoft Teams.
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Subject: Elementary Mathematics

Q1. Draw the following lines with the use of ice-cream sticks.
a) Slanting line
b) Vertical line
c) Horizontal line
d) Curved line

Q2. Classify the following as acute, obtuse, right, straight line.

a)

0/

d)

Q3. Using matchsticks, construct different types of triangles based on their sides.
Identify and explain the types of triangles you can create (equilateral, isosceles
and scalene) based on the length of the sides.

Q4. Find out whether a triangle can be formed with the given angles or not?
a) 52 ,68,60
b) 115,15,95
c) 68,110,22
d) 54,75,36
e) 105,35,40
f) 47,50,20

Q5. Choose the correct answer.

a) Which of the these is a parallel line?
) /\
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(Y2 x 4=2)

(V2 x 4=2)

(3)

(% X 6=3)

()




i)

ii) \

-

b) Which of these letters forms a perpendicular?
) M i) N iii) H

¢) An acute angle whose measure is less than 90 degreeis
1) acute 1) obtuse iii) right
d) A triangle with all the sides of different lengths is called:
i) Equilateral triangle
i) Isosceles triangle
iii) Scalene triangle
Iv) Right triangle
e) When the angle between two lines is 90 degree, the lines are said to be
a) parallel
b) perpendicular
c) Intersecting

d) coincident
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